	CIS 0083 - 2 Quiz #10

	Name:


	SSN (last 4 digits only):


	Q1: 1point

A JAVA interface contains:
· Abstract fields only

· Abstract methods and non abstract methods

· Abstract methods only

· Abstract events

	Q2: 1point

To implement an interface, a class must:
· Implement ALL methods defined in the interface
· Implement the methods needed from the interface, but at least one

· Add new definitions to the interface

· Use the ‘addActionListener()’ method

	Q3: 1point

A class can implement
· One interface only

· Multiple interfaces always

· Multiple interfaces only if it is a derived class

	Q4: 1point

An event is fired by:
· The event-source, e.g. a button

· By the event listener, i.e. the class that reacts to the event

· By the event listener, if it is registered to the source

	Q5: 1point

The event registering method, usually a method called ‘addXXXXListener’, e.g. ‘addActionListener’, is a method owned by
· The event source, e.g. a button

· The event listener, i.e. the class that reacts to the event

· The XXXXListened – interface (e.g. actionListener – interface)

	Q6: 1point

To make a button visible on the screen, it must be
· Added to a container-object, e.g. JFrame

· Activated by ‘addActionListener()’

· Created only, calling the constructor automatically shows the button on the screen

	Q7: 1point

Bring the six steps of creating a GUI into the right order:
Add components, apply layout, register listeners, show it to the world, import packages, set up top level container

1._______________________                     4._________________________

2._______________________                     5._________________________

3._______________________                     6._________________________

	Q8: 1point
Name at least 3 layout types:

	Q9: 1point
A layout’s duty is

· To register event listeners to events

· To provide methods that are needed to implement interfaces

· To organize and define the visual appearance of GUI elements

	Q10: 1point
Which of the following statements is correct ?
· To implement an interface, all methods defined in it must be implemented, but they are not necessarily used by the program at runtime

· To implement an interface, all methods defined in it must be implemented, because they will all be used by the program at runtime

· To implement an interface, all methods defined in it must be implemented, and all of them must be registered to an event source to guarantee a stable program at runtime.




